p. 476
[image: image1.png]37.What is the image of (6, —2) under the translation (x, y) — (x — 5,y — 8)2 D
A.(18,3) B.(-2,-7) c(1.6) D. (1. -10)

38. The point (5, —9) is the image under the translation (x, ) — (x + 3,y + 2).
What is the preimage? F

E (2 -11) G. (8, -7) H. (2, -7) J.o@® 1)
39. What rule describes the translation 4 units up and 12 units left? B

Ay —x+4,y+12) B.(x))—>(x—12,y+4)

Cly) = x+4,y—12) D.(xy) = (x+ 12,y +4)

40. AXYZ has vertices X(—5, 2), Y(0, —4), and Z(3, 3). What are the vertices of
the image of AXYZ under the translation (7, —5)? F

F X'(2,-3), Y'(7, -9), Z(10, -2) G. X'(-12,7), Y(=7,1), Z' (-4, 8)

H.X'(=12,-3), Y'(=7,-9), Z(-4,-2) ). X'(2,-3), Y (10, -2), Z'(7, -9)




p. 482

[image: image2.png]47.\What is the reflection image of (5, —3) across the y-axis? C

A.(5,3) B. (-5,3) C. (=5, -3) D. (-3,5)
48.\What is the reflection image of (5, —3) across the liney = —x? H
F(-3,5 G. (-3, -5) H. 3, -5 1G5
49. What is the reflection image of (a, b) across the liney = —6? D
A.(a—6,b) B. (a, b —6) C. (-12—-a,b) D.(a —-12-0b)

50. The preimage of a reflection lies in Quadrant Il and the image i
Quadrant Ill. Which line could be the line of reflection? H
Fy=x G.y=—x H. x-axis J. y-axis

n




p. 487

[image: image3.png]36. What is the image of (1, —6) for a 90° counterclockwise
rotation about the origin? F
F. (6. 1) G. (-1,6) H. (-6, 1) J.(-1,-6)




39.  X’(2,-1)  
   Y’(5,0)    
Z’( 0,8)
[image: image4.png]



p. 488 is in the back of the book under the green instant check answers tab.

